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Textbook Questions Answers Choose The Correct

Answers

1. Vexillary aestivation is characteristic of the

family



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0wrmuPBlXkzA

A. Fabaceae

B. Asteraceae

C. SolanaceaeBrassicaceae

Answer: A

o Watch Video Solution

2. Gynoecium with united carpels is termed as

A. Apocarpous


https://dl.doubtnut.com/l/_0wrmuPBlXkzA
https://dl.doubtnut.com/l/_V6NA6jWqn22P

B. Multicarpellary

C. Syncarpous

D. None of the above

Answer: C

o Watch Video Solution

3. Aggregate fruit develops from

A. Multicarpellary. apocarpous ovary

B. Multicarpellary. syncarpous ovary


https://dl.doubtnut.com/l/_V6NA6jWqn22P
https://dl.doubtnut.com/l/_htjjqWRemM8W

C. Multicarpellary ovary

D. Whole inflorescence

Answer: A

o Watch Video Solution

4. In an inflorescence where flowers are borne
laterally in an acropetal succession the

position of the youngest floral bud shall be

A. Proximal


https://dl.doubtnut.com/l/_htjjqWRemM8W
https://dl.doubtnut.com/l/_YPdrGllAGqYA

B. Distal

C. Intercalary

D. Anywhere

Answer:

o Watch Video Solution

5. A true fruit is the one where

A.Only ovary of the flower develops into

fruit


https://dl.doubtnut.com/l/_YPdrGllAGqYA
https://dl.doubtnut.com/l/_xSIR4bOL7T0W

B. Ovary and calyx of the flower develops

into fruit

C. Overy, calyx and thalamus of the flower

develops into fruit

D. All floral whorls of the flower develops

into fruit

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xSIR4bOL7T0W

Textbook Questions Answers Answer The

Following Questions

1. Find out the floral formula for a bisexual
flower with bract, regular, pentamerous,
distinct calyx and corolla, superior ovary

without bracteole.

o Watch Video Solution

2. Given the technical terms for the following:

A sterile stamen



https://dl.doubtnut.com/l/_DZqrjpJLWmGC
https://dl.doubtnut.com/l/_EKVEnhtGDJe6

o Watch Video Solution

3. Given the technical terms for the following:

Stamens are united in one bunch

o Watch Video Solution

4. Given the technical terms for the following:

Stamens are attached to the petals

o Watch Video Solution



https://dl.doubtnut.com/l/_EKVEnhtGDJe6
https://dl.doubtnut.com/l/_gE1uhciAnyE8
https://dl.doubtnut.com/l/_EOQnBhmW7Hua
https://dl.doubtnut.com/l/_2JR6UsDnHmpd

5. Explain the different types of placentation

with example?

o Watch Video Solution

6. Differentiate between aggregate fruit with

multiple fruit.

o Watch Video Solution



https://dl.doubtnut.com/l/_2JR6UsDnHmpd
https://dl.doubtnut.com/l/_CkCPiq9PRgjD

7. Explain the different types of fleshy fruit

with suitable examples

o Watch Video Solution

Other Important Questions Answers Choose The

Correct Answer

1. Axillary inflorescence is present in:

A. Nerium oleander

B. Theobroma cocoa


https://dl.doubtnut.com/l/_gu1T3a8oKv4B
https://dl.doubtnut.com/l/_b4kxRG0i0QKj

C. Hibiscus rosa sinensis

D. Couropita guianensis

Answer: C

o Watch Video Solution

2. An unbranchd indeterminate inflorescence

with sessile flowers is categorised as.

A. spikelt

B. spike


https://dl.doubtnut.com/l/_b4kxRG0i0QKj
https://dl.doubtnut.com/l/_K7M7X1PX4A3V

C.simple raceme

D. none of the above

Answer: B

° Watch Video Solution

3. Umbel type of inflorescence is seen in:

A. Allium cepa

B. Caesalpinia

C. Cauliflowe


https://dl.doubtnut.com/l/_K7M7X1PX4A3V
https://dl.doubtnut.com/l/_cNSFU9kKpmji

D. Opuntia

Answer: A

° Watch Video Solution

4. Cyathium inflorescence consists of:

A. Small bisexual flowers

B. small unisexual flower

C.small anthers

D. none of the above


https://dl.doubtnut.com/l/_cNSFU9kKpmji
https://dl.doubtnut.com/l/_wFZuNJS8WDia

Answer: B

o Watch Video Solution

5. Which of the following is a monoecious

plant?

A. Musa

B. Coconut

C. Magnifera

D. Pya.


https://dl.doubtnut.com/l/_wFZuNJS8WDia
https://dl.doubtnut.com/l/_HlbNjdallBFo

Answer: B

o Watch Video Solution

6. A plant with both male flowers and bisexual

flower is termed as:

A. androdioecious

B. gynodioecious

C. andromonoecious

D. trioecious


https://dl.doubtnut.com/l/_HlbNjdallBFo
https://dl.doubtnut.com/l/_QnjFAquAfUWn

Answer: C

o Watch Video Solution

7. Flowers which lack any plane of symmetry

and cannot be divided into equal halves in any

plane are seen in:

A. bean

B. Datura

C. Cassia

D. Canna mdica


https://dl.doubtnut.com/l/_QnjFAquAfUWn
https://dl.doubtnut.com/l/_cymB8IuXxsBh

Answer: D

o Watch Video Solution

8. A flower which is composed of distint outer

calyx and inner corolla is termed as.

A. Homochlamydous

B. dichlamydeous

C. achlamydeous

D. none of the above


https://dl.doubtnut.com/l/_cymB8IuXxsBh
https://dl.doubtnut.com/l/_HgKnTdJ63kTG

Answer: B

o Watch Video Solution

9. Match the following:

(i) Anisomerous (a) Allium
(ii) Bimerous (b) Annona
(iii) Trimerous (c) Hibiscus

' (iv) Pentamerous (d) Ixora

A. (i)-(d), (ii)-(b), (iii)-(a), (iv)-(c)

B. (i)-(b), (ii)-(c), (iii)-(d), (iv)a)

C. (i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)

D. (i)-(b), (ii)-(d), (iii)-(a), (iv)-(c)


https://dl.doubtnut.com/l/_HgKnTdJ63kTG
https://dl.doubtnut.com/l/_0MJAoCnevQBW

Answer: D

o Watch Video Solution

10. Synsepalous condition is present in the

flowers of:

A. Annona

B. Papaya

C. Datura

D. palmyra


https://dl.doubtnut.com/l/_0MJAoCnevQBW
https://dl.doubtnut.com/l/_agwJT49txK3V

Answer: C

o Watch Video Solution

11. Cruciform corolla is seen in

A. radish

B. dianthus

C. tea

D. rose

Answer: A


https://dl.doubtnut.com/l/_agwJT49txK3V
https://dl.doubtnut.com/l/_sphUhTgdLQAD

° Watch Video Solution

12. Flowerpetals fused to form a bell-shaped

corolla are termed as:

A. tubular

B. Rotate

C. Infundibuliform

D. companulate

Answer: D

| 8 l


https://dl.doubtnut.com/l/_sphUhTgdLQAD
https://dl.doubtnut.com/l/_dgy6aLjxiVP6

13. Corolla with two lips is present in:

A. adhatoda

B. linaria

C. helianthus

D. allium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dgy6aLjxiVP6
https://dl.doubtnut.com/l/_nezORgpCffJw
https://dl.doubtnut.com/l/_J6mIathRefE1

14. Aestivation is the term used for:

A. arrangement of flowers in inflorescence

B. arrangement of leaves in the stem.

C. arrangement of sepals and petals in the

flower bud

D. none of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_J6mIathRefE1
https://dl.doubtnut.com/l/_IPJGYhIS5Hfs

15. Match the following:

(1) Monadelphous \ (a) Asteraceae
(ii) Diadelphous | (b) Malvaceae
(iii) Polyadelphous ' (c) Fabaceae

(iv) Syngenesious (d) Bombax

A. (i)-(d), (H)-(b), (iii)-(a), (iv)-(c)

B. (i)-(b), (ii)(c), (id)-(d), (iv)-(a)

C. (i)-(b), (U)-(a), (iii)-(d), (iv)-( ¢ )

D. (i)-(b), (ii)-(c), (iii)(a), (M~(d)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IPJGYhIS5Hfs
https://dl.doubtnut.com/l/_u0qrZsXohlKF

16. Didynamous condition in which two

stamens with long filaments and two with

short filaments and two with short filaments,

IS seen In:

A. [pomoea

B. Ocimum

C. Mimosa

D. Datura

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_u0qrZsXohlKF

17. Innate condition of anther attachment is

named for the condition:

A. base of anther is attached to the tip of

filament

B.apex of filament is attached to the

dorsal side of the anther.

C. filament is continued from the base to

the apex of anther

D. none of the above


https://dl.doubtnut.com/l/_u0qrZsXohlKF
https://dl.doubtnut.com/l/_YsNGbjf3rJDR

Answer: A

o Watch Video Solution

18. Poricidal type of anther dehiscence is

present in:

A. Cinnamomum

B. Nelumbo

C. Brinjal

D. Datura


https://dl.doubtnut.com/l/_YsNGbjf3rJDR
https://dl.doubtnut.com/l/_xO7xg4k3up07

Answer: C

o Watch Video Solution

19. A condition in which the gynoecium has

four carpels is termed as:

A. bicarpellary

B. multicarpellary

C. unicarpellary

D. tetracarpellary


https://dl.doubtnut.com/l/_xO7xg4k3up07
https://dl.doubtnut.com/l/_u62xW2JkDgYQ

Answer: D

o Watch Video Solution

20. Match the following

(i) Anthophore (a) Gynandropsis
(7i) Androphore (b) Capparis
| (117) Gynandrophore (c) Grewia

jr (7v) Gynophore

(d) Silene canoidea

A. (i)-(d), (ii)-(c), (iii)-(a), (iv)(b)

B. (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)

C. (i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)



https://dl.doubtnut.com/l/_u62xW2JkDgYQ
https://dl.doubtnut.com/l/_Uyh8cFCbD2jd

D. (i)-(b), (ii)-(c), (iii)<(a), (iv)-(d)

Answer: A

° Watch Video Solution

21. In malvaceae family the sepals, petals and

stamens are attached at the base of a superior

ovary. This condition is known as:

A. Perigynous

B. Epigynous


https://dl.doubtnut.com/l/_Uyh8cFCbD2jd
https://dl.doubtnut.com/l/_gyXS0jN3zRTM

C. Epiperigynous

D. Hypogynous

Answer:

° Watch Video Solution

22. Axile placentation is present in:

A. Hibiscus

B. mustard

C. marigold


https://dl.doubtnut.com/l/_gyXS0jN3zRTM
https://dl.doubtnut.com/l/_EGPpjjwRZ1zZ

D. cucumber

Answer: A

° Watch Video Solution

23. Drupe fruit develops from:

A. tricarpellary inferior ovary

B. monocarpellary, superior ovary

C. Bicarpellery ovary

D. bicarpellary, syncarpous ovary


https://dl.doubtnut.com/l/_EGPpjjwRZ1zZ
https://dl.doubtnut.com/l/_v0NxQWWdk81d

Answer: B

o Watch Video Solution

24. . Multiple or composite fruit develops from

A. the whole flower

B. Single flower

C. the whole infloresence

D. none of the above

Answer: C


https://dl.doubtnut.com/l/_v0NxQWWdk81d
https://dl.doubtnut.com/l/_xLLkxtHQg0aS

° Watch Video Solution

25. Match the following

[ (i) Berry (a) Mango
/(iz) Drupe ‘ (b) Tomato
[(iii) Pome (c) Cucumber
| iv) Pepo (d) Apple

A. (i)-(d), (ii)-(b), (iii)-(a), (iv)-(c)

B. (i)-(d), (ii)-(c),(iii)«(a), (iv)-(d)

C. (i)-(b), (ii)-(a), (ii1)-(d), (iv)-€

D. (i)-(b), (ii)-(c,, (iii)-(a)-(iv)-(d)

Answer: C


https://dl.doubtnut.com/l/_xLLkxtHQg0aS
https://dl.doubtnut.com/l/_cBayOt5yrP4z

° Watch Video Solution

26. In an inflorescence where flowers are borne

laterally in an acropetal succession the

position of the youngest floral bud shall be

A. proximal

B. Distal

C. Intercalary

D. Anywhere

Answer: A


https://dl.doubtnut.com/l/_cBayOt5yrP4z
https://dl.doubtnut.com/l/_6zGdpohCtXjV

° Watch Video Solution

27.Edible part of jack fruit is:

A. whole fruit .

B. mesocarp

C. perianth and seeds

D. perianth and rachis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6zGdpohCtXjV
https://dl.doubtnut.com/l/_MjPH1jvloxmr

28. Non-endospermous seeds are present in:

A. Groundnut

B. Maize

C. sunflower

D. castor

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MjPH1jvloxmr
https://dl.doubtnut.com/l/_FvILWBeWCgtB

29. Indicate the correct statement.

A. Edible part of the fruit is poisonous to

animals

B. Edible part of the fruit is a source of

food energy for animals.

C. Edible part of the fruit is the exclusive

source of medicine.

D. Edible part of the fruit is the only source

of fodder.


https://dl.doubtnut.com/l/_znl4TOcFKZnj

Answer: B

o Watch Video Solution

30. In angiosperms embryo seed represents:

A. female gametophyte

B. male gametophyte

C.sporophyte

D. none of the above

Answer: A


https://dl.doubtnut.com/l/_znl4TOcFKZnj
https://dl.doubtnut.com/l/_HhPKlE9XbUB1

° Watch Video Solution

Other Important Questions Answers Answer The

Following Short Answers

1. Define floriculture

o Watch Video Solution

2. Define axillary inflorescence.

o Watch Video Solution



https://dl.doubtnut.com/l/_HhPKlE9XbUB1
https://dl.doubtnut.com/l/_7x6VuDkkCuHI
https://dl.doubtnut.com/l/_ayEy7kvY0yKZ

3. What is meant by spadix inflorescences?

o Watch Video Solution

4. Define Capitulum.

o Watch Video Solution

5. What do you know about Helicoid?

o Watch Video Solution



https://dl.doubtnut.com/l/_ayEy7kvY0yKZ
https://dl.doubtnut.com/l/_ZntGXOLwYsqs
https://dl.doubtnut.com/l/_VTD47bmts0KE
https://dl.doubtnut.com/l/_wPC2HXz8PtGP

6. Define Cymule

o Watch Video Solution

7. Describe Coenanthium inflorescence. Give an

example.

° Watch Video Solution

8. What is a bisexual flower?

| N |


https://dl.doubtnut.com/l/_wPC2HXz8PtGP
https://dl.doubtnut.com/l/_WNmjRG2Bgvck
https://dl.doubtnut.com/l/_z8f9pply2Xir
https://dl.doubtnut.com/l/_2iuBHqpuhuRQ

| ¥ Watch Video Solution |

9. Define polygamous plant

° Watch Video Solution

10. What are actinomorphic flowers? Give

examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_2iuBHqpuhuRQ
https://dl.doubtnut.com/l/_xd8Si7aWUEvA
https://dl.doubtnut.com/l/_dMojDSZLQeTS

11. What do you know about merosity?

o Watch Video Solution

12. What is a deciduous calyx?

o Watch Video Solution

13. What type of calyx is present in Ocimum?

o Watch Video Solution



https://dl.doubtnut.com/l/_1lS1yhWbG632
https://dl.doubtnut.com/l/_vXYxFG3lVeSD
https://dl.doubtnut.com/l/_mjubGstgCL7I

14. Define infundibuliform corolla

o Watch Video Solution

15. Mention the parts of stamen.

o Watch Video Solution

16. Define the term "Connation".

o Watch Video Solution



https://dl.doubtnut.com/l/_IKe3oGkLN78B
https://dl.doubtnut.com/l/_ryO8AcenGbds
https://dl.doubtnut.com/l/_51WHjAIkbCeY

17. Explain Apocarpous ovary.

o Watch Video Solution

18. Describe Gynobasic style with an example.

o Watch Video Solution

19. What is meant by pomology?

o Watch Video Solution



https://dl.doubtnut.com/l/_a3onsncT4TTF
https://dl.doubtnut.com/l/_iaMeAYGXV32V
https://dl.doubtnut.com/l/_dsSnLcnvP2TD

20. Write down two important functions of

seed.

o Watch Video Solution

Other Important Questions Answers Answer In

Brief

1. Distinguish between racemose and cymose

inflorescence.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0sUYbdUh0yx
https://dl.doubtnut.com/l/_B35zq1RTWUJX

2. Explain the term " Hypanthodium" with

suitable example.

o Watch Video Solution

3. What are the different types of corolla in

sympetalous zygomorphic flowers?

o Watch Video Solution

4. What is the meant by anther dehiscence?



https://dl.doubtnut.com/l/_diSvDE8nHCKY
https://dl.doubtnut.com/l/_cY5iV10j4LAr
https://dl.doubtnut.com/l/_T2oQDbGXB74G

o Watch Video Solution

5. Explain stigma

o Watch Video Solution

6. Describe the salient features of floral

diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_T2oQDbGXB74G
https://dl.doubtnut.com/l/_Z4ulS3gyrojT
https://dl.doubtnut.com/l/_3YlqzFh0SHBw

7. Distinguish between true fruit and false fruit

o Watch Video Solution

8. Mention any three functions of seeds.

o Watch Video Solution

9. Write briefly about the types of multiple

fruit with example.

o Watch Video Solution



https://dl.doubtnut.com/l/_iHkR1YF4Oga1
https://dl.doubtnut.com/l/_uUGonByAvCfK
https://dl.doubtnut.com/l/_FaNVAxKEcvpQ

10. How are seeds classified baed on the

presence of absence of the endosperm?

o Watch Video Solution

Other Important Questions Answers Answer In

Detail

1. Describe racemose inflorescence

° Watch Video Solution



https://dl.doubtnut.com/l/_FaNVAxKEcvpQ
https://dl.doubtnut.com/l/_rxK2rWbDrt9M
https://dl.doubtnut.com/l/_QEm529Hk0biT

2. Explain the parts of a flower, with a neat

labelled diagram.

o Watch Video Solution

3. Write the types of Aestivation and Explain .

o Watch Video Solution

4. Describe different types of anthers in plants.

o Watch Video Solution



https://dl.doubtnut.com/l/_CNJ05URH25Pi
https://dl.doubtnut.com/l/_1W8kstINn13h
https://dl.doubtnut.com/l/_Hfn23HYKDQxx

5. Explain the floral diagram and floral formula

of Hibiscus rosa sinensis

o Watch Video Solution

6. Write an essay on fleshy fruits and its kind.

o Watch Video Solution

Solution To Activity


https://dl.doubtnut.com/l/_Hfn23HYKDQxx
https://dl.doubtnut.com/l/_cENXYBDtavUK
https://dl.doubtnut.com/l/_BxRzQdJvON1a
https://dl.doubtnut.com/l/_LhlqGfdXFksu

1. Prepare a diet chart to provide balanced diet
to an adolescent (a school going child) which
includes food items (fruits, vegetable and
seeds) which are non - expensive and are

commonly available.

° Watch Video Solution



https://dl.doubtnut.com/l/_LhlqGfdXFksu

